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PART—I

( LANGUAGE )

Directions (Q. Nos. 1 and 2) : Fill in
the blanks with suitable articles like

€~ 3

a’, ‘an’ and ‘the’ :

1. There are 30 or 31 days in

month.

(A) the
a

(C) an

(D) More than one of the above
(E) None of the above

2. My father is engineer in
the Water Works Department.

(A) the
\@y an
(C) a

(D) More than one of the above
(E) None of the above

3. Which of the following is a part
of bedroom?

(A) Pillow
(B) Table lamp
(C) Curtains
\,({57 More than one of the above
(E) None of the above

4. Which of the following is a part
of a room?

(A) Window
(B) Ceiling
(C) Floor

M/Iore than one of the above

(E) None of the above
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5. Rainy season comes before
\LA)/ winter
(B) spring
(C) summer
(D) More than one of the above

(E) None of the above

6. The eighth month of the year is
(A) July
(B) September
(C) October

(D) More than one of the above
_\(}}/N one of the above

7. Sister-in-law is
(A) husband’s sister
(B) wife’s sister
(C) brother’s wife

\More than one of the above

(E) None of the above

8. Cousins are
(A) maternal
(B) paternal
(C) siblings
\}37 More than one of the above
(E) None of the above



9. ‘Sid wiee # wi-E G BY
(A) /Z=aT=eh G
(B) Siferer=res &=
(C) wTeaT=I BT
(D) 3wtk # & T § enferen
(E) 3w & & 18 7t

10. fiefafad seal & & F9-31 “Thaer’ 27
(A) TEER
(B)
(C) =g
(D) 3w U | UH A Al
(E) 3w & & 18 7

11. &< s § ‘e’ w1 %y forg aof &
o8 A1 27?

INEEERE

(B) o g
Y F F wamq

(D) 39w H ¥ TH ¥ M

(E) 3w & & 18 7t

12. ‘o 9 g 2, 39 e @1 3|
AT | HI-91 G 27

INBREEREIEES
By AT
(C) gruaT=h
(D) 39w | ¥ TH ¥ M
(E) 37 # & i< e

W
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13. fommor %1 yg@ wg &H-a1 78 27
By s forroor
(B) Torare ferreor
(C) i fergror
(D) 39w | ¥ UH ¥ M+
(E) 3udth # @ 1S T

14. T=fafed & @ #F-u1 31ygg e 27
i e

(B) H

(C) STrTH

(D) 39w | ¥ UH ¥ M+

(E) 3w & @ 18 7

15. fafafed # ¥ ®E-91 g Fd- aren
&g 37
_(Ay =t
(B) &l
(C) S
(D) 3UYh H § TF ¥ Al
(E) 3w # @ *iE T

16. f=fofiad & & #9-w1 “acom’ wee 27
(A) =
oy
(C) B
(D) 39w W | TH § Afh
(E) Sudth # & #1$ T

(FRRANmwneemm-- e.r.o.



17. T=fafaa & @ F9-w1 et s 27
(A) =T
(B) wiieEn
~g
(D) 39w | ¥ TH ¥ M
(E) 3w & & 18 7t

18. T=HT o MR W 54 sai o e e
8 3% FH-91 I el AT &7

e
(B) =
(C) @mTEg
(D) 39w H ¥ TH ¥ M
(E) 3udth # & #1$ T

19. f=fafga & & fre o & ‘srds
fop” 27
(A) 38 Ta TR |
~ By et oot 2
(C) ¥a% & | TR 9T 2|
(D) 39w | ¥ UH ¥ M+
(E) 39tk # & 1S T

20. frfafad § & FH-T1 39 e 27
(A) 3TEm
(B) R
NCa
(D) 39w | ¥ TH ¥ M
(E) 3ude d 9+ T
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21. ffaftaa @ @ -1 358 T¢ Wse TE
27
(A) <R
(B) SIHRI
(C) wefd
Ny =T # ¥ wF @ At
(E) Sugh @ 9 g T

22, ‘@i’ o5 T = g 27
N
(B) Wt
(C) Tl
(D) 3UYh H § TH ¥ Al
(E) 3w & @ 18 7t

23. AYS 3R IE Id-! H HH-T1 JH el
& 77
(A)  =HATH—ahreT
(B) gAm—IIoe
(C) TTETeH—WaTeH
(D) 3uYh H § TF ¥ Al
\f i i & P

24, ‘“‘Igw1 9fos IsEa 2 @ 9 H
Eifehd wsg I g AT hi-HT B7

A
(B) $sc
(C) I=aw
(D) 3w U | UH § Afh
(E) ST 4 4 & 7



25. TF DI ATHid ol THAA o, S ShiA 28. &= Wil % 3gWE &1 el HHT ST 2
W forefl fog 1 feufa =1 w18 e g,
T 1 e B (4) 500 %o 7o

\W (B) 500 3o
(B) frm (S¥1000 Zo

(C) *Hre (D) 3t & & T @ a1fern
(D) 3tk & & T @ anfern (E) 3T | ¥ 18 e
(E) 30 | ¥ g

29, YIAE HENmE H auEfid, TR,

26. ‘FEi % oG A AW B feonfem, T e g5 s Twe =

T T B
(A) =Thaly N
B) it uies
o \\@/ﬁdm
(C) Hforefreror Ta .
(C) i w=rd
(D) HE U ¥ 3
- (D) 3WI® | € TH ¥ Meh
@/@?@?ﬁﬁ@ﬁéqﬁ |
(E) 39w | ¥ =I5 T
27. ‘5@t g aed ged |
€T GERTE HewT, SE-He F7g M 11 30. i wedt ® fom, o=, Fk B HE
ITE 7 T8, o Fedld &
I HA-URRA T -9 W 37
~ (A) =@
(A) T
(B) fomrt
(B) R
~ (S e W
(D) 39w & & TH I A (D) 39H & & T T Al
(E) ST # & =i T (E) 3% 4 4 5 7
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PART—II
( GENERAL STUDIES )

31. The floor of a rectangular hall 34. The equation ax? + bx + ¢ =0 has
has a perimeter 250 meters. If two distinct real roots, if
the cost of painting the four
walls at the rate of 10 per

(meter)? is € 15,000, then the

height of the hall is
\,(,B{ b2 -4ac>0
(A) 7 meters

(B) 16 meters
~_IeJ 6 meters
(D) More than one of the above

(E) None of the above

(A) b%-4ac<0

(C) b%-4ac=0
(D) More than one of the above

(E) None of the above
32. Which of  the following

statements is not true?

(A) Every natural number is a

whole number. 35. Mohan can do a bit of work in
\(9)/ Every integer is a whole 25 days which can be completed
number. by Sohan in 20 days. Both

together labour for 5 days and
afterward Mohan leaves off. How
long will Sohan take to complete
(D) More than one of the above the remaining work?

(E) None of the above

(C) Every natural number is an
integer number.

(A) 20 days
33. The average of 7 consecutive

numbers is 20.. The largest of (B)/11 days
these numbers is

A) 20
(A) (C) 14 days
B) 21
\QAS (D) More than one of the above
(D) More than one of the above
(E) None of the above (E) None of the above
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PART—II
( GENERAL STUDIES )

31. TF JAFAHR A &k W ARy 34. FFO ax?+bx+c=0 % q fim
250 Hiex #1 afg € 10 vl =t wfex A Tt g g, Al
WY I AaE U = H A
¥ 15,000 2, a1 gt il ST 8
(A) 7 Hi

(B) 16 T \@(bQ—4aC>O
\(9/6Iﬁ21 ,
(C) b -4ac=0

(D) 39w H ¥ UH ¥ M+

(A) b%-4ac<0

(E) 394 H ¥ HI5 &l (D) 393t & & T 9 31k
32. f=fdafgd & @ +F-w1 F9 T (E) 37 & & 18 T
& 7
(A) I WTHG WA, TF T /e R
(B T quiler, we ot G ¥ 35. Hied 25 Al # U ®m™ R whar g
\/ . . 58 @em 20 At @ = " 2
(C) % W dem, i 3w w5 R % fow om
T 2 | 3TN IWh MG HIgd HH SIS a1 31 I
(D) 37k | O wH ¥ Al FE QU B T died I R wm
. ame?
(B) S o @ =g T

A) 20 f&
33. 7 HUNd SIS 1 3Ed 20 ' T A

Y gl o< 9 @ \@%lﬁq

(A) 20

(B) 21 (C) 14 fe

MQS (D) 3w W | TH § Al
(D) 39w | ¥ UH ¥ M+

(E) 3udth § & #1$ T (E) 37 & & 18 e
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36. If X=a2 —b2, Y =30 and 39. Myopia is a disease in which a

a+ b =15, then person cannot see
(A) X is lesser than Y if a=b \W/ distant objects clearly
(B) X is greater thanY ifa>b (B) nearby objects clearly
(C) Y is greater than X ifa=»b (C) nearby as well as distant
objects clearly
\(9( More than one of the above

(D) More than one of the above
(E) None of the above
(E) None of the above

37. The probability of a non leap

year selected at random will 40. The term ‘heredity’ chiefly refers
contain 53 Sundays is to
a) A (A) anatomy
7
(B) meiosis
B 2
53 \9)/ genetics
©) 1 (D) More than one of the above
53

(E) None of the above

(D) More than one of the above

(E) None of the above 41. The cans in which food is
packed are coated with tin and
not zinc because

38. If 7'2¥t6_493x*12" then the

value of x is (A) tin is more reactive than

zinc

\(ﬁ/S M is more reactive than
(B) 4 tin
c) 7 (C) zinc is costlier than tin
(D) More than one of the above (D) More than one of the above
(E) None of the above (E) None of the above
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36. It X =a2-b2, Y=30 du
a+b=157%,

A) XBizYydaaka=hb
(B) XS el Y¥IR a>h
(C) YSeig X¥aa=h

Wﬁﬁ@sﬁwﬁw

(E) 30 | ¥ 18 e

37. Igfe® ®1 § g4 T UH -9 9y §
53 tfeam g= it TRk 2

(B)

A

1
(©) =3
(D) 30w W | TH § Afh

(E) 3w | ¥ 18 e

38. -qﬁ 712X+6 — 493x+12 —Eﬁ, ?ﬁ x Fl
GIChd

&
B) 4
€ 7
(D) 3w W | TH § Afh
(E) 3udth # & #1$ T
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39. wEifuan T sw g, e whte @

& g 2

N R A e T w9 A

(B) U il IEIE TE €Y Y

(C) T8 & qT T I U T &9 H
(D) 39w | ¥ TH ¥ M

(E) 393t o & 18 T

0. ‘sgaRmeral W& &I ®1 H TRy

Tefifq et 27
(A) IRR-T=AT
(B) regEht favsH

Y st

(D) 3w U | UH A Afh
(E) 37d & & 18 e

41. 5= fesai @ @ U fomen San 2, 39

R fo & wa = Bt & 7 R 5w A
ENIED

A) fH, & H g # Al

yfafsransfia 2
\Mﬁm,ﬁqﬁ@ﬂmﬁﬁw
EIRIERIIC R

(C) 5=, fmaweme
(D) 39w U | TH § Al
(E) 37 & ¥ 18 e

(FRRANENEmwneemm-- [ eor.o.



42. The process in which 44. Trachoma disease is related to
atmospheric carbon dioxide is
converted into carbohydrates (A) lungs

during photosynthesis is
(B) ears

(A) oxidation \(7/637 ©s

(D) More than one of the above

\(Byreduction (E) None of the above

(C) hydrolysis 45. Which of the following makes
use of Newton’s third law of
motion?

(D) More than one of the above
(A) Archery

(E) None of the above (B) Space rocket

(C) Venturimeter

(DY More than one of the above
43. The quality of a printer is

determined as (E) None of the above

46. Particles which can be added to
the nucleus of an atom without
changing its chemical properties

(B) strike per inch are

\(ﬁ,)/ neutrons
Mots per inch (B) electrons

(C) protons

(A) words per inch

(D) More than one of the above

(D) More than one of the above

(E) None of the above (E) None of the above
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42, g ik, SeH yewr-gvavn & SR 44, FFHE T H GEE R
IgH AT HEA SEIAFEEE  hl

Fratergee § giatdd o Sar g, 2 (A) el @
(B) &M ¥
A) SR
. kil
(B)/ === (D) 3udh @ | TH @ Aferh
(E) 37 | ¥ *18 e
(C) et -fergermoD
. 45. Fmfafaa # @ #F-a1 = & wfd &
(D) ST H & T ¥ feren R e =1 3T o 'Y
. . (A) diarsit
(E) 3T | ¥ *18 e
(B) afier Ache
(C) a=liiz
43. wF frx i e fred fuifa # (DY 8
?
il 2 (E) 3w & § 18 T
(A) w8 ufd g9
46. TEEMF U HI AN Td gC Th
TIHTY] o AT | SIS ST aTet T §
(B) WER Ui ¥
W) A
%@ms’a B) W
(C) Wi

(D) 30w W | TH § Afh
(D) 39w | ¥ UH ¥ i

(E) 30w & & 15 T (E) 393 & & g T
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47.

48.

49,

Before Elon Musk announced
change of the signature Blue
Bird logo to Sign X’ logo, who is
regarded as the creator of
Twitter’s iconic Bird in its final
version in 20127

(A) Jack Dorsey

\(?4)/ Martin Grasser

(C) Noah Glass
(D) More than one of the above

(E) None of the above

Who is the Director of the
famous film Oppenheimer, a film
about high-concept
released this year?

science,

<8y~ Christopher Nolan

(B) Guy Ritchie
(C) Laura McGann
(D) More than one of the above

(E) None of the above

Which one of the following has
pulled out from hosting the
2026 edition of Commonwealth
Games due to huge estimated
expenditure on its organization?

(A) London, UK

(B) Kuala Lumpur, Malaysia

\Kr Victoria, Australia

(D) More than one of the above

(E) None of the above

24 /HV/M-2023-26/S5 (HS)/250-A
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50.

51.

What is the full form of INDIA, a
recently formed alliance of
opposition political parties?

( Indian National Develop-
mental Inclusive Alliance

(B) Indian National Develop-
ment for Improvement
Alliance

(C) Indian National Develop-

mental Inclusive Associa-

tion

(D) More than one of the above

(E) None of the above

What message was sent by
Chandrayaan-2 lunar orbiter to
Chandrayaan-3’s lander module
when it established contact with
it in August 20237

(A) “Welcome home”

(B) “Chalo chand ke

chalein”

paar

\M“Welcome, buddy”

(D) More than one of the above

(E) None of the above



47. TTH W@ 3N REER & a8 A 50. 2@ & H a9 fauafl TSHifaw Il *

et X A il HEOT A ¥ U, s INDIA 1 qUi&d @1 27
2012 ¥ 1 AfH "eRor H g %
yfafya o€ & fmiar % w0 & 58 @ L
e &7 \(ﬁl/ﬁ"@r—v WA STAuHeA  THAE
AT

(A) S et

,\(@/ﬂTﬁqW (B) 3fead JvHd STcUHE HR IHEHE
(C) eI T&@E AT
(D) 3w U | TH A Afh ©) e 3 S—
(E) 3T | ¥ *IE T e

48. 34 9 Nl g8 I=-2@gnon g™ & (D) 3w § & U @ e
R ¥ uftrg fhen ‘siumem’ & fews
e 39 | U FIE &
(E)

(A A e
(B) s =t
(C) o f%i 51. 3rmd 2023 # W& wSEE-2 =%
(D) www # & wh & s el 3 waF-3 % ot wed 4§

, . TFeh TTMa foram, a1 364 3@ I dem
(E) 3w § | wr5 T2 ST o7
49. frefafaa # @ from Tgw @ @l & » )
2026 WM A A § T (A) e e
FRSH W 9 STFATHG 2T o R0
AT A aTIE o foran 27 (B) ‘=l =fE % Uk =
(A) @, Fo Ho
. cy “aawm, s&’

(B) FIATATAY, HATTT \9/

(D) 39w H ¥ UH ¥ M+
(E) 30w & & rg T (E) 393 # & g T

(D) 39w H ¥ UH ¥ M
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52. Name the former President of
China who crushed the pro-
democracy movement in 1989.

(A) Mao Tse Tung

(B) Yang Shangkun
\(Q)/Jiang Zemin

(D) More than one of the above

(E) None of the above

53. Who has elected for the second
term as Ireland’s Prime
Minister?

(A) Sanna Marin
(B) Robert Abela
C)/ Leo Varadkar
(D) More than one of the above

(E) None of the above

54. African Union was made a
permanent member in the G-20
Summit held in India. Who is
the Chairman of the African
Union?

\9}/Azali Assoumani
(B) Justin Trudeau
(C) Ursula von der Leyen
(D) More than one of the above

(E) None of the above

24 /HV/M-2023-26/S5 (HS)/250-A

55. As per geographical area,
arrange the following physio-
graphic units of India in
ascending order

1. Central highlands
2. Great plains

3. Coastal plains

4. Northern Mountains

Select the correct answer using
the codes given below.

\M 1, 2, 4
B) 1, 2, 3, 4
C) 2,4,1,3
(D) More than one of the above

(E) None of the above

56. Arrange the following ranges
from North to South in
sequence :

1. Ladakh

2. Karakoram
3. Pir Panjal
4. Zanskar

Select the correct answer using
the codes given below.

(A 1,3,2, 4
B2 01,4, 3
C) 3,4, 1,2

(D) More than one of the above

(E) None of the above



52.

1989 U dlhasl Gwde IT<Icd i

FaeH ard FH1 % 99 Ugafd w AW
fefiam |

(A) ST & g

(B) AT AT

()i S

53.

(D) 30w U | TH § Afh

(E) 3udth # & 1S T

APRAE *k TUEEA F ®T T W
FrdeRtet & fore fordr gm e 27

(A) &= wH

(B) e el

el forit e

54.

(D) 39w | ¥ UH ¥ M
(E) 39w ° A 5 T8
ad # ArEfSd s—-20 e ax e |

FER Y Rl TR ¥ ST T
TR G5 % 7L Hi 87

Wa@mﬁ

(B) et g2t

(C) 3G aH X TH

(D) 39w | ¥ TH ¥ M
(E) 39w # & &g 7
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55.

56.

ofrfeiss &%al o ST{AR, WA i
frfefaa sifass (Refemmfes) gt
1 T 0§ e Hifer

1. s =9
2. HgH AeH
3. W HeN

4. 398 v
f= fow T g W oW W EE W
el

\@.)/3, 1, 2, 4

(B) 1,2, 3, 4
(C) 2,4,1,3

(D) 39w | ¥ UH ¥ M
(E) 3udth # & 1S 7

frefaitaa aftml = s @ <y i
3N A | HAEId il

1. o€
2. THHIA
3. R U~

4., SR
= fau MU Fe W O W AE IW
Tl

A 1, 3,2, 4

~UBr?2, 1, 4, 3

15 (R

< 3,4,1,2
(D) 39Y® | ¥ TH ¥ M
(E) 37 & ¥ 18 e

[P.T.O.



57. During the monsoon season in 60. When running water cuts

India, most of the cyclones have through clayey soils and makes
their origin deep channels, they lead to
(A) between 8°N and 13°N (A gully erosion
latitude
(B) sheet erosion
\)B/between 10°N and 15°N
latitude (C) deforestation
(C) between 16°N and 21°N (D) More than one of the above
latitude

(E) None of the above
(D) More than one of the above

() None of the above 61. Which of the following receives
heavy rainfall in the month of

58. Which of the following areas is October and November?

t landslide- ?
not landshde-prone area (A) Hills of Garo, Khasi and

(A) Western Ghats Jaintia

(B Eastern Ghats \(EX/Coromandel Coasts

(C) Himalayan Regions (C) Plateau of Chota Nagpur
(D) More than one of the above (D) More than one of the above
(E) None of the above (E) None of the above

59. Which of the following coasts of
India is most affected by violent
tropical cyclones?

62. Cultivation of fruits and
vegetables is called

(A) Malabar (A) floriculture

WCoromandel (B) agriculture
(C) Konkan \(9/horticulture

(D) More than one of the above (D) More than one of the above

(E) None of the above (E) None of the above
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57. WA § Aigd disq # Aferewie =ghardi 60. S« wedl Ul fust fidt @ wrear ?

(A) 8°3°3ﬁ113°30 31&11‘53‘[&;]:[%-5[ \Mﬂ?ﬁm
\@/I’O°3o3ﬁ'{15°30 37T &+ &g B) S
(@) 16° 3o 3 21° 3o I & T © a:ﬁﬁwé
(D) 3w # & UF W Aferh D) s 8 s
) (E) 37 & & 18 e
58. fmfafaad &t & & *H-w YEIeH- | |
ygd (I9) TE 87 61. frefafad § & waf smper 3 Ta=R *
T o 9 9ol Bt 87
(A) ufeadt =T
(A) TR, Tt IR St it verteat
\(p'ﬂﬁﬁw
\,GB’)/aﬁﬁﬁwaz
(C) femmerft &=
C
(D) 3w & ¥ wF @ Afeek (C) DTN %l 48R
(E) 37 | ¥ *IE (D) 37 | ¥ TH A Al

(E) 3T | ¥ 18 e

59. fr=fiflga § @ WG &1 -9 92 ;W

IuhH T whardl @ "W 3TfYeR 62. et w wEE B A 3

gutferd 87
(A) HETER (A) i
~ (B FiEa (B) FH
(C) Fiww (©)
(D) 3w # & wF ¥ e (D) ST # 4 Uk ¥ wAfew
(E) 37 # & g e (E) 3w § & g 7
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63. Who provided leadership in the 67. Queen Victoria’s Proclamation

districts of Patna, Ara and was issued on which of the
Shahabad during the Revolt of following dates?
1857 in Bihar? (A) 1 November, 1857
(A) Raj Kumar Shukla (B) 27 March, 1858
(B) Namdar Khan \IQ)’ 1 November, 1858
. (D) More than one of the above
\j,@)/ Kunwar Singh

(E) None of the above
68. Which of  the following
statements is/are correct?
(A) Raja Rammohan Roy was
the pioneer of modern

(D) More than one of the above
(E) None of the above

64. The Partition of Bengal was
made effective on

education.
(A) 14 October, 1905 (B) Swami Dayanand
(B) 15 October, 1905 proclaimed India for
~(C)—18 October, 1905 Indians.
(D) More than one of the above (C) Vivekananda participated in
(E) None of the above the Parliament of World
Religions.

65. The Quit India Resolution was \jﬁ) More than one of the above
adopted by the Congress in (E) None of the above
Bombay on 69. Who among the following
(A) 7 August, 1942 became India’s unofficial

\M August, 1942 Ambassador to England?
(A) Surendranath Banerjee

(€) 9 August, 1942 ~AB) Dadabhai Naoroji

(D) More than one of the above (C) Swami Vivekananda

(E) None of the above (D) More than one of the above
(E) None of the above

70. Who described the Government

of India Act, 1935 as a ‘Charter

66. The British ruled India for a long
period due to the

(A) liberal policies of the

of Slavery’?
Congress (A) Mahatma Gandhi
(B) imprisonment of Indian (B) Netaji Subhas Chandra
leaders Bose
\JZ)/ policy of Divide and Rule (C) Maulana Hasrat Mohani
(D) More than one of the above (D) More than one of the above
(E) None of the above ( None of the above
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63.

64.

foer #1857 &t wifd & SRH e,
AW R wmerEe et § R Aga
T fera?

(A) TSIHHAR LTt

(B) -WER @f

(D) 39w H ¥ UH ¥ M+
(E) 394w & & &5 T

A o favrse gwrelt g
(A) 14 3|ER, 1905 @
(B) 15 3mEeR, 1905

\}Qf 16 3TEeR, 1905 =

65.

66.

(D) 39y H ¥ TH ¥ M
(E) 3w & & 18 T

TS H HUE g WG Drel T 9™
IERIRIE

(A) 7 3T, 1942 =

\_(B)/S 3T, 1942 =

(C) 9 7 TEd, 1942 =
(D) 30w W | TH § Afh
(E) 37d & & 18 T

US4 WG T o o9 deh U9 hdl
fepam?

(A) =G it graTEl Fifadt & FHror
(B) et Jared s TRt & sror
gy’ i i s w0 A +Aifd 6 s
(D) 39w H ¥ UH ¥ M+

(E) 3udth # & #1$ T

24 /HV/M-2023-26/S5 (HS)/250-A

67.

freafafes & @ fea fafy = o=t
foaeifen i 3gamon S g7

(A) 1 9awR, 1857

(B) 27 |, 1858

UG}t @R, 1858

68.

(D) 39w | ¥ TH ¥ M
(E) 3ww & 9 18 T

Ffafga # 9 E-81 Ho w2 87

(A) TS TmHEA T T frem @
Fmuft o |

(B) @Mt g¥M=< 4 ‘YRd WRdRN
fora’ =t A fem

(C) s 3 fava o wog § om

formm|
\MT o i & o @ st

(E) 3T | ¥ 18

69. T U T i H RA * IHIUHIG

gd a7
(A) GEEA SSA

B/ am fsh

(C) Tt faaems
(D) 39w | ¥ TH ¥ 1M
(E) 3w & 9 18 T

70. YR R AfMHEH, 1935 = fore

19 [EHANA0TR0 RO

T[T T AL AT

(A) W et

(B) TS GuTY =5 9
(C) IS Zoxd Wrem
(D) 39w W | TH § Afh

\(q{wﬁﬁﬁﬁﬁéqﬁ

[P.T.O.



71.

PART—III

( COMPUTER SCIENCE )

The brain of computer is

\/:)( CPU

(B) memory
(C) I/O device

(D) More than one of the above

74. CPU on a single chip is called

Mroprocessor

(B) microcontroller
(C) solid-state device

(D) More than one of the above

(E) None of the above (E) None of the above

72. Intel 8085 microprocessor is of 75. Computer on a single chip is
generation. called

(A) first \Mnicrocontroller
\,(B')’ second (B) microprocessor
(C) third

(C) assembler

(D) More than one of the above
(D) More than one of the above

(E) None of the above
(E) None of the above

73. The maximum memory size of

third generation microprocessor 76. Which one of the following is

is used for playing video games?
\_(}J/ 4 GB (A) Mouse
(B) 16 MB (B) Trackball

(C) 16 GB (C) Joystick

(D) More than one of the above \9})’ More than one of the above

(E) None of the above (E) None of the above
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PART—III

( COMPUTER SCIENCE )

71. X T B

\())/ gy (CPU)

72.

(B) famHt (memory)

(C) =g/ fearzm (1/0 device)
(D) 39Y® H ¥ TH ¥ M

(E) 3udth # & 1S T

32T 8085 WEHMEW _ SHEH
EoRd

(A) W

) fitr

(C) T
(D) 39w | ¥ TH ¥ M

(E) 3T | & *18 e

73. A AREE TEHITHE H AT

o wmes @

(A) 4 GB

(B) 16 MB

(C) 16 GB

(D) 39w H ¥ UH ¥ M
(E) Sudth # & #1$ T
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74. tFA fod W "y (CPU) & &
ST 8

\(y ATESHIEHL (microprocessor)
(B) HIEhEeR (microcontroller)
(C) Hifere-we IRk (solid-state

device)
(D) 39w H ¥ UH ¥ 1M+
(E) Sudth § @ g T
75. THd o9 W FFFR (computer)
EIS G
\/() TTEghis-2leR (microcontroller)
(B) TSGR (microprocessor)
(C) TR (assembler)
(D) 39w W | TH § Afeh
(E) 3udth # & 1S T
76. Tritea @ @ foroem fafeat 79 (video
game) Wad & foIq w2 femam simar 87
(A) #RE (Mouse)
(B) ¢&aia (Trackball)
(C) witafes (Joystick)
I i @ &
(E) Sudth § & #1$ T

21 [THNEA e { e.r.o.



77. is used to store softwares 80. A computer program that

that does not update. converts a high-level language
program into an equivalent

(A) SRAM machine language program is
called

(B) DRAM

(A) assembler

\((yROM Q/ compiler

(D) More than one of the above (C) loader

(E) None of the above (D) More than one of the above

(E) None of the above
78. Which of the following contains

]
a laser 81. A computer program that
) CD Drive translates high-level language
\)A program into machine lan-
(B) RAM guage program statement-by-

statement is called

(C) Hard Disk Drive (A) compiler

(D) More than one of the above (B) loader

(E) None of the above \LQ( interpreter

(D) More than one of the above

79. A computer program that
converts an assembly language
program into equivalent machine
language program is called 82. Which of the following is not an

operating system?

(E) None of the above

(A) compiler
(A) Linux

\}Bﬁssembler _
(B) Windows
(C) linker \(Q)/Oracle

(D) More than one of the above (D) More than one of the above

(E) None of the above (E) None of the above
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77.

78.

_ W YA W ORER H WR
F % fou foman Smar 7, e smuee
AT TE = 2|

(A) SRAM

(B) DRAM

\(9/ ROM

(D) 39w H ¥ UH ¥ M
(E) 3T | & 18

iteRa # @ fored oo gran &7

\(}4’ CD Drive

79.

(B) RAM
(C) Hard Disk Drive
(D) 39w | ¥ UH ¥ M
(E) 394w & & *15 T
TH HRE U, S UERl T
(assembly language)® WM
guged WM 9 (machine
language) % WU ¥ s&ct odl 8, 39
TR I e ST 8
(A) HHTER

NGy
(C) T
(D) 30w W | TH § AfUh

(E) 37 & ¥ 18

24 /HV/M-2023-26/S5 (HS)/250-A

80. TF FHIX WM, S IA-TRT T
(high-level language) % SR
A9 WM (machine language) &
TAqeT UH § SEAdl g, 38kl whal
ST 2

(A) THEER
\}B'T ERRIES
(C) <R
(D) 39 U | TH A Al
(E) 3udth § @ #1g T

81. TH FHYX WM, S IA-TAF
T T o -SL-h AR TS TTH

H 3TJATE AT 8, Heamdl &

(A) TSR
(B) <R

U wmim
(D) 39w | ¥ TH ¥ M+
(E) 30 § & 1S T

82. fifhd © @ wH-®1 sTwfen fowen

(operating system) &t 87
(A) foe@ (Linux)
(B) fae= (Windows)

~CY HE= (Oracle)
(D) 39w U | TH § Afh
(E) 393w # & &g T
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83. A software that runs on a 86. The three main components of a

computer hardware and serves digital computer system are
as a platform for other softwares

to run is called (A) memory, I/O, DMA

(A) system software (B) ALU, CPU, memory

\(I;)/operating system \/(Zf memory, CPU, 1/0

(C) application software (D) More than one of the above

(D) More than one of the above
(E) None of the above

(E) None of the above

87. FFFF will be the last memory
84. Which of the following is not a location in a memory of size
system tool?

(A) 16K
(A) Scandisk

(B) Format (B) 32K

'\(9’ Folder \»('C{ 64K
(D) More than one of the above (D) More than one of the above

(E) None of the above (E) None of the above

85. The key/keys used to delete a
file without allowing it to store in
recycle bin is/are

88. The cost of storing a bit is
minimum in

A) cache
(A) Delete (A

\Mhift + Delete (B) register

(C) Ctrl + Delete \(Wgnetic tape

(D) More than one of the above (D) More than one of the above

(E) None of the above (E) None of the above
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83. FHFI TSN T IeHATAl Th HHadT 86. fefea =y foen & I 7= wew
S g dRRR W =an & fau g
THEHIH T HTH HLAT &, FEAdl 8

(A) fawm  wiwedm  (system (4) fwd (memory), 1/0, DMA

software) (B) ALU, CPU, i (memory)
B)/atfén foew (operating
\L/system) (% it (memory), CPU, 1/0
(C) UferhyH diwa= (application (D) 374 # & T ¥ Afereh
software) E) e § & A
(D) 39Y® | ¥ TH ¥ M
() 3% 5 & 5 = 87. T wew ¥ fd § ofad frd
e FFFF grm?
84. f=ifed # ¥ wH-w fwew @
(system tool) 7Et &7 (A) 16K
(A) Tra-fewF (scandisk) (B) 32K

(B) WiHe (format)

\(9 64K

\(cyqﬁw (folder)
T8 uF A e
(D) 3WI® | § TH ¥ MeH (D) 7w 3 9 v 9 e
E) s @ (B) 3w @ 5 7
85. fwmfha fom (recycle bin) ¥ R 88. foe & € *H SEIRCE]
fora fomm forelt wga =1 g2 (delete) - i Brar 21 !
& fou form it (key) =1 T foRam
STTT 87 (A) 1 (cache)

(A) fefere (delete)

\_@/ﬁw + fefere (Shift + Delete)

(C) @=ra + fefez (Ctrl + Delete)
(D) 39w & ¥ TH 9 A (D) 39 # & T T ek

(E) 3w ® & g T (E) 393 & & =g T

(B) IR (register)
\(9)/ Tfes 29 (magnetic tape)
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89. Tera means

\/(B‘)' 240

90.

91. The

(C) 230
(D) More than one of the above

(E) None of the above

Which of the following system
softwares resides always in main
memory?

Mader

(B) Linker
(C) Assembler
(D) More than one of the above

(E) None of the above

postfix expression
equivalent of  the prefix
expression * + ab —cd is

(A) /ab+ cd —
(B) abcd + —*
(C) ab+cd* -

(D) More than one of the above

(E) None of the above

24 /HV/M-2023-26/S5 (HS)/250-A

92. Which data structure is used to

93.

94.

convert infix notation to postfix
notation?

\(y/ Stack

(B) Queue
(C) Tree
(D) More than one of the above

(E) None of the above

The data structure in which
data are added at the rear and
deleted from front is called

(A) stack

(BJ queue

(C) linked list

(D) More than one of the above

(E) None of the above

Queue data structure uses

(A) FIFO
(B) LIFO
(C) LILO

\QD)/More than one of the above

(E) None of the above
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89. Tera &1 314 /Udeia 2l 2 92. zfFF TRYA (Infix notation) @
qEefha AeYH (postfix notation)

A) 220 ¥ 9qa & for fFE data structure
1 T e ST 27
540
~f W@m (Stack)
(C) 230
(B) ¥ (Queue)
(D) 3'3@?5 o9 ks (C) 2 (Tree)
(E) ST # &l Tl (D) 3T & & w @ sifm
(E) 3w § | wIg T2

90. f=ifea o @ #F-wr fien afweay,
T fome # gHem @ 8 f
93. 9% data structure, &H data 9@
(A) (loader) (rear) ¥ gl a1 g 3R 3

‘ (front) ¥ g™ T 8, FHacATdl 8
(B) feta (linker)
(A) stack

\(?f queue

(C) linked list

(D) 39w | ¥ UH ¥ M+

(C) TwdrEer (assembler)
(D) 39w | ¥ UH ¥ M
(E) 37 & & 18 T

91. itk TFIUTH (Prefix (E) I § W AR T
Expression) * + ab — cd 1 ¥9dcd
e ithed TFEUTHE (postfix

) 94. Queue data structure YIN
expression) 2

T B
\@/abwd_* (A) FIFO
(B) abcd + —+ (B) LIFO
(C) ab+cds - (C) LILO
(D) 3t H § TF ¥ e Wﬁ@wﬁﬁw
(E) 3w & © *1g T (E) 3wl & =15 T
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95. Stack data structure uses 98. In C++, all members of a class

are by default.
(A) FIFO
(A) public
( LIFO
— By private
(C) LILO

(C) protected

(D) More than one of the above (D) More than one of the above

(E) None of the above (E) None of the above

96. A constructor is called whenever

99. In C++, what does a class hold?

\(@/ an object is created
(A) Array
(B) a class is created
(B) Data
(C) a class is declared
(C) Data and functions
(D) More than one of the above
\[))/More than one of the above

(E) None of the above
(E) None of the above

97. All members of a structure in

C++ are by default. 100. The number of access specifiers

in class of C++ is

\9/ public @ 2
(B) private \(?/3

(C) protected (C) 4
(D) More than one of the above (D) More than one of the above
(E) None of the above (E) None of the above

24 /HV/M-2023-26/S5 (HS)/250-A 28 [N



95. Stack data structure JIRT T &
(A) FIFO
(B) / LIFO
(C) LILO
(D) 30w W | TH § Al
(E) 3w § § &g T

96. & constructor @I Hid (call) T
AT 8, oo et oft

\(})/QT’F Afesi#e (object) SHMT STl

2
(B) TH F@ (class) SR ST 2

(C) @ #®@ (class) & declare
fopan st 2

(D) 3w U | TH ° Al
(E) 37 & & *18 T

97. C++ U, structure & @i He=
fewice (default) &7 & Bd 2|

\(}( public
(B) private
(C) protected
(D) 30w W | TH § Al
(E) 39w & & &g 7

24 /HV/M-2023-26/S5 (HS)/250-A

98. C++ U, class & @fl He=
(members) fewice 1 & B
&
(A) public

\(f) private
(C) protected

(D) 39w | ¥ UH ¥ M+
(E) 37 | & 18 e

99. C++ #, class % 3T 1 &Il 87
(A) Array
(B) Data
(C) Data 3R functions
\(wajas i3 U ¥ Al
(E) 393t o & I8 T
100. C++ & class H, access specifiers

I w3
(A) 2

\(5/ 3
(C) 4
(D) 7Y H § TF ¥ Al
(E) 39w # & &8 T
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101. Which of the following is used to 104. Choose the correct statement
define the members of a class about inline function in C++.
externally in C++? X

(A) It speeds up the execution.

(A)
\@/ - (B) It slows down the execution.
(C) # (C) It decreases the code size.

(D) More than one of the above (D) More than one of the above

(E) None of the above
(E) None of the above

102. Which concept of C++ is used to

reuse the written code? 105. What will be the output of the

(A) Polymorphism following?

p\,(aB)/ Inheritance int a = 5;

(C) E lati cout <<“FIRST” <<(a<<2) <<“SECOND”;
ncapsulation

(D) More than one of the above (A) FIRST 52 SECOND

(E) None of the above
(B) FIRST 20 SECOND

103. What will be the output of the

C) SECOND 25 FIRST
following program fragment? (©)

int i = 10; (D) More than one of the above
void main()
{int i = 20; \PE)/ None of the above
{
int i = 30;
printf(“%d, %d”, i, : :i); 106. cout in C++ stands for
}
} (A) class output
\MO,IO
\9)/ character output
(B) 30,20

(C) 20,30 (C) common output
(D) More than one of the above (D) More than one of the above

(E) None of the above (E) None of the above
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101.

102.

103.

feifera @ @ forgeRt C++ ¥ class &
=l o Al ¥ gRiiia & % fog
v TR STrar 87

Aa) -

\(yj::

(C) #

(D) 39w | ¥ TH ¥ M

(E) 3ww & 9 18 T

C++ & -9 concept for@ T

codeﬁwmmﬁ%mm
BT 27

(A) Polymorphism

\}B) Inheritance

(C) Encapsulation
(D) 39w H ¥ UH ¥ M+
(E) 37 | ¥ *18

Freifera rm e Exl
3TM3Ye(output) FT BT
int i = 10;
void main( )
{int i = 20;
{
int i = 30;
printf(“%d, %d”, i, : :i);
H
J

\(y/BO,IO

(B) 30,20

(C) 20,30

(D) 30w W | TH § Al
(E) Sudth § & #1$ T

24 /HV/M-2023-26/S5 (HS)/250-A

104.

105.

C++ #, inline function & R #
el I A |

(A) ¥E execution &I d (fast) &
Ed

(B) I® execution I &l (slow)
3@l 2

(C) T HIS TTES H T2l B

(D) 3w W | TH § Afh

(E) 37 & & 18 e

freifRd 1 ®ege  (output)
BT

int a = 5;

cout <<“FIRST” <<(a<<2) <<“SECOND”;

106.

(A) FIRST 52 SECOND
(B) FIRST 20 SECOND
(C) SECOND 25 FIRST
(D) 30w U | TH § Afh

\(?/sqg?ﬁﬁﬁﬁéﬁ

C++ # cout =1 W formes fou
Frar 27

(A) class output

\(E%haracter output

(C) common output
(D) 39w | ¥ UH ¥ 3+
(E) 37 & ¥ 18 e
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107. Group of instructions that 110. End-to-end connectivity is
directs a computer is called provided from host-to-host in

(A) memory (A) network layer

(B) storage \JB)/ transport layer

\9/ (C) session layer
( program

(D) More than one of the above

(D) More than one of the above

(E) None of the above

(E) None of the above
111. The measures the number
of lost or garbled messages as a

sampling period.

\(ﬁ)/ residual error rate

(A) system flowchart

(B) program flowchart (B) transfer failure probability
( algorithms written in (C) connection release failure
computer language probability

(D) More than one of the above (D) More than one of the above

(E) None of the above
(E) None of the above

112. A high-speed communication
equipment typically would not

109. The topolo ith  highest
pology W & be needed for

reliability is

e-mail
(A) star \W

(B) transferring large volume of
(B) ring data

\J2] mesh (C) supporting communication

between nodes in a LAN
(D) More than one of the above (D) More than one of the above

(E) None of the above (E) None of the above
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107. X & G20 &1 a1 instructions

% |YE I FE QB

(A) fd

(B) wWR«

~2f s

(D) 30w W | TH § Afeh
(E) Sudth # & 1$ T

108. R WM # 2ar B

A) foew v
(B) U™ el

Y K wwm # fafaa

algorithms
(D) 39w | ¥ UH ¥ M+
(E) 37 | ¥ 18 e

109. I=qH foveeigar areft Sdreist @

(A) =R
(B) far

WW (mesh)

(D) 39w H ¥ UH ¥ M+
(E) 3udth # & #1$ T
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110. TR-H-TR e Ug-2-Ug

(end-to-end) FAfFfadt fha =R o
e it St 27

(A) HeTH TR
\ﬁfa:ﬁaqﬁé@m
(C) AIE (W) R
(D) 39w | ¥ TH ¥ 1M
(E) 37dh & & 18 T
FA @y (sampling
period) ® S T FeA HIT o Teh 37
% ¥ W W A1 fohd Hawn i e wH
HTAT 2|
(A)~%afite I & (residual error
rate)

(B) TAMHIGROT fawbetar st HraT
(C) e frefis fawerar &t guremn
(D) 39w | ¥ UH ¥ M+

(E) 3w & & 18 7t

. % fou smmdar W I=-1fd §=R

IURTO] 6T STITIRAT T2t Bt |

Y

(B) o<t AT H ST TAMTANT A

(C) s w4 (LAN) & 1@l & o=
HAR 1 gAdT

(D) 3w U | UH A Afw
(E) 37 & & 18 e
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113.

114.

A topology uses a single
connection to connect all devices
together.

( bus
(B) star
(C) ring

(D) More than one of the above

(E) None of the above

A  is used to connect
networking devices that are in a
very close geographic area such
as a floor of a building.

(A) WAN

\)BT LAN

115.

(C) MAN
(D) More than one of the above

(E) None of the above

In computer network, what is
the size of IP address in IPv4?

(A) 8 bits
(B) 16 bits

NSy 732 bits

(D) More than one of the above

(E) None of the above
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116.

117.

What is the size of MAC address
in computer network?

(A) 32 bits

(B) 16 bits

\y/ 48 bits

(D) More than one of the above

(E) None of the above

What is the name given to the
act of gaining illegal entry to
computer files through remote
terminals or microcomputers?

\(}a)/ Hacking

118.

(B) Decoding
(C) Beating the system
(D) More than one of the above

(E) None of the above

A computer virus is a software
program which has the essential
ability to

(A) damage data
(B) damage program

(C) clone itself

\MAore than one of the above

(E) None of the above
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113. qATS, Th & S (FAHH) 116. &KX +eaw H MAC address &l

=1 W At gREA (devices) & TH Hres fohaHT BT 27
1Y Sred % T o6t 2
A) 32 fae
NS
(B) 16 foae
(B) &R
© fin \(&r” 48 fre
(D) v & & @ v (D) IHF 5 8 wF § e
(E) 3wt d ¥ =Ig T (E) 3w d ¥ =I5 T
114. 1 ST S Jeal sy @ 117, T A a1 demee & A
e % foru frem s 2, SRR e ¥ FHFFE Brcl § @Y YT TH R
F w3 wga O i o # % Bl 1 A fe T 87
&Il 2 | .
Ly
(A) 9 (WAN) '
(B) feemifém
@(%(LAN)
(C) fTozew =1 Amd o
(C) #F (MAN)
D 0| TF G e
(D) =T i 3 7 & v D) =7
. E 0 g &g Ial
(B) i & & 7 (B) v
: 118, HIX dIH TH W UM T,
115. FFJX +ea% & IPv4 # IP TgH ‘
(address) T @1gst fohaT 2rar 87 fored sTrawas swan it @
(A) 8 fe= (A) Zer & aafd e A
(B) 16 fre (B) wwmm it eafd A it
(Y 32 fr (C) T = FAN TTH
(D) v & & U @ st Ny 5% # @ w & v
(E) 30w & & 1g T (E) 3w & @ 18 7t
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119. Copying computer program/ 122. If every non-key attribute is fully

software without the permission dependent on the primary key,

of its authors is called then the relation will be in

(A) larceny (A) First Normal Form (1NF)
\%ftware piracy \(}}/ Second Normal Form (2NF)

(C) highway robbery (C) Third Normal Form (3NF)

(D) More than one of the above (D) More than one of the above

(E) None of the above (E) None of the above

123. In relational database, the data
type of values in each column of
a table is called

120. A hard disk becomes totally
inaccessible when a computer
virus corrupts

(A)/partition table (A) attribute

(B) file allocation table \(}A)mam

C lati
(C) root directory (C) relation

(D) More than one of the above (D) More than one of the above

() None of the above (E) None of the above

124. In relational database, the
number of attributes of a
relation is called the _  of
relation.

\())/ foreign key (A) domain
(B) secondary key \Megree

121. An attribute of one table
matching the primary key of
another table is called as

(C) candidate key (C) cardinality
(D) More than one of the above (D) More than one of the above
(E) None of the above (E) None of the above
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119. FF TUH/ARIR H Iqh @H 122, 3R T&& AH-H U [ @ 4§

it argufa & fomm Fdh w1 Feam B et i W Rk war 7, @ Rewm g
(A) @t (larceny) (A) Yo 9idd wd (1NF) §
By ®iweer =l ) fida At wid (2NF) §
(C) @rsd Sohell (C) g it wi (3NF) §
(D) 3wt H § TF ¥ e (D) 30w # & T & s
(E) 304 # & rg 7 (E) I & & 15 e
R T ey 123 fo ok, fonh 2w %
3 — ?Wm%?%éﬂ%%amﬁww
(A)/TaTei arferert (qTféee 2aret) A) e
(B) W@;q;:;; dTicTehl  (WTged \(yfgﬁﬁq
(C) & fFehmem (¥ srRad) (©) Ferem
(D) 3 & 4w & vt (D) 39w W | TH § Afh
(E) 3wt § & 1g T

(E) 3ww & © 18 T

121. TH A H UL, S g A 124?{?@%‘6@@1&,%@&@%%
w1 ¥ A (frerar &) war | ufempel 1 e il foRe @

— - ’ el S 2|
\W‘ﬁi:rsﬁ (A) BF

(B) Wehrsf i \15)/1%1;%

(C) *Hfgge (C) =fEaferdt

(D) 39w | ¥ TH ¥ 3 (D) 39w W | TH § Afh
(E) 3w H © *1E T (E) 3w & 15 T
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125.

126.

Which of the following SQL
commands is used to change the
attribute values of one or more
rows in a table?

\)Af Update

(B) Insert
(C) Alter
(D) More than one of the above

(E) None of the above

To retrieve information from a
database, which of the following
SQL commands is used?

(A) Display

(B) Show

\Jﬂ{ Select

127.

(D) More than one of the above

(E) None of the above

Which of the following SQL
commands is used to modify the
structure of a table?

\y/ Alter

(B) Modify
(C) Update
(D) More than one of the above

(E) None of the above
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128.

(A)
\BY’ LIKE

129.

N

130.

Which of the following SQL
keywords is used to display data
from a table based on certain
pattern?

(C) BETWEEN
(D) More than one of the above

(E) None of the above

Degree and cardinality of a
relation in relational database
are 4 and 3 respectively. If 3
attributes and 4 tuples are
added to the relation, what will

be its new cardinality and
degree?
(A) 7,6
7,7
(C) 8,6

(D) More than one of the above

(E) None of the above

Which SQL command is used to
remove a table from a database?

(A) DELETE
(BY DROP
(C) ERASE

(D) More than one of the above

(E) None of the above
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125. f=ifea @ & fee SQL =wre o1 forst

A % TH AT TH U AE U (rows)
% Uese Iog w deeH & forg wEm
fopam Strm 27

\yd a2 (Update)

(B) & (Insert)

(C) 3HfceX (Alter)

(D) 39w | ¥ TH ¥ M
(E) 393t o & 18 T

126. frHt See@ & g=A1 o Fewem & fog

feifera ° @ fope SQL AT &1 T3
fora STram 27

(A) fe=d (Display)

(B) = (Show)
\}Q)/ Tz (Select)

(D) 39w | ¥ TH ¥ M
(E) 3udth # & #1g T

127. f=fea & @ fFm SQL  wwiS

(command) &1 Y& fFEl 2o &
wWFR (structure) & ¥eeH & fou
ERIURCRIAS I

\(ﬁ( Alter

(B) Modify

(C) Update

(D) 3w U | TH ¥ Al
(E) 3udth # & #1$ T
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128.

fefs @ @ 59 SQL  &FaE
(keyword) & WM Rt ¥d W
YT 2ol ¥ ST &l <o /e &
fore gran &7

(A) IN

\‘(B) LIKE

129.

(C) BETWEEN
(D) 39w | ¥ TH ¥ M=

(E) 3w & © 18 T

frvEa g2 99 # s frowm w feft
3 HISATT FHI: 4 3R 3 B AW
3 Ufese 3N 4 =[a 3w fowm ¥ g

T s, @@ @ fomm w =
Fifeafadt ofiw ferft = gmme

&) 7, 6

B 7.7

130.

(C) 8, 6
(D) 39w | ¥ TH ¥ 1M

(E) 37dh & & 18 T

et 2o @ 9@ ol g2 o foru ford
SQL HATE T TN foram S 27

(A) DELETE

~# DROP

(C) ERASE
(D) 3w U | UH ¥ Al
(E) 37 & & 18 e

39 [IHNHIAMv iy { e.r.o.



131. The register that contains the
address of the next instruction
to be executed is called

\/A) program counter
(B) instruction register
(C) accumulator
(D) More than one of the above

(E) None of the above

132. The register that contains the
instruction that is  being
executed is called

(A) accumulator
(B) program counter
\/6) instruction register
(D) More than one of the above

(E) None of the above

133. The register which holds the
address of location of memory to
and from which data are to be
transferred is known as

(A) index register

\/(BT memory address register
(C) memory buffer register
(D) More than one of the above

(E) None of the above
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134. A storage device wused to
compensate the difference in
flow of data is known as

(A) main memory
(B) auxiliary memory
~—€] buffer
(D) More than one of the above

(E) None of the above

135. Memory in which any location
can be reached in a fixed
amount of time after specifying
its address is called

(A) Sequential Access Memory
\(}f Random Access Memory

(C) Secondary Memory

(D) More than one of the above

(E) None of the above

136. If (X567)g + (2YX 5 g = (71YX)sg,
then the values of X and Y are

N4, 3
B) 3,3
C) 4, 4
(D) More than one of the above

(E) None of the above
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131. =g Worex, od sren soedm S 134, T & YAE § @ I TR & faw

TR B9 S BT § 36 Ugd ST T T aTefl LR fearsa 5
BT 8, FHEamd @ T ST 27
\/f{) I 3R (A) e e
(B) THzHM I (B) wemeh frmr
(C) THHEAX (©)
(D) 39y H ¥ TH ¥ M (D) 39y H ¥ TH ¥ M
(E) 393t o & g 7 (E) 3udth # & 1S T

132. URHEE T ® TUIRHE & @A 135. =& fmd, oo e aes W 39
T 1 e ST AHIE I I & E Th FHiTea am

H Iga1 S W1 &, FEATd @
(A) TR

A) Tas=Ere e
(B) WM 3T

Ten v
SO e ~

(C) Wkt fimt
(D) 39w W | TH § Afh

(D) 39w W | TH § Al
(E) 3w & © 18 T

(E) 3w & © 18 T

133. g tereer, foed it & o &1 uar
BT 8 &l @ AT Sl a1 T 136. TR (X567)g+ (2YX5)g= (71YX)sg,

e ST e ®, e @ @ X 3 vFaE (3) 3
(A) FeHE TR 8y 4,3
\@/ﬁqﬁfrﬁg{qﬁw (B) 3, 3
(C) TRt st Toren (C) 4, 4
(D) 37 H § TF ¥ Al (D) 7Y H § TH ¥ Al
(E) 3w H © *1E T (E) 3w § & =15 T
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137. The range of the numbers that 140. The number of 1’s in the binary

can be represented in 8-bit representation of the wvalue of
using 2’s complement represen- the decimal expression of
tation is 163 x9+162x7+16x5+3
(A) —-128 to +128 is

(A) 15

(B) —127 to +127 o

\(9/—128 to +127 (C) 12

(D) More than one of the above

(D) More than one of the above (E) None of the above
(E) None of the above 141. The Boolean expression x+ xy
equals
138. If (11X1Y)g = (12C9);, then the ~ W x+y
values of X and Y are B) x+xy
(€) y+yx
(A) 5,1 (D) More than one of the above
B) 5, 7 (E) None of the above
\(9/3 1 142. The Boolean expression
’ AB+AB’+A’C+ AC
(D) More than one of the above is independent of Boolean
variable
(E) None of the above A) A
B/ B
139. Which of the following 4-bit ) ¢
numblers Dequals its 2’ (D) More than one of the above
tr
compremen (E) None of the above
(4) 1010 143. The Boolean expression A+ BC
1
(B) 0101 cquas

(A) (A’+B)(A’+C)
\@)/1‘0'00 B) (A+B)(A’+C)
\L()/ (A+B)(A+C)
(D) More than one of the above
(E) None of the above (E) None of the above

(D) More than one of the above
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137. 2’s  &ifEem=<  (complement)
TOIS=eeH &1 7 ek 8 foe # foise
BN arelt TEeT w1 W R
(A) -128 @ +128
(B) —-127 & +127
\(V—128@+127
(D) 39w H ¥ UH ¥ 1M+
(E) 3udth # @ 1$ T
138. IR (11X1Y)g = (12C9);6 &, @ X
IR YF A= (Ig) B
A) 5,1
B) 5, 7
\Ms, 1
(D) 39Y® H ¥ TH ¥ M
(E) 3w & @ 18 7t
139. fifoRd 4-foe Fwi & F-1 310
2’s WHIfFH-E o S &7
(A) 1010
(B) 0101
\(9/1000

(D) 39w | ¥ UH ¥ M
(E) 37 & & 18
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140. =fqHa wEITH

16 x9+162x7+16x5+3

% WM (deg) w A oI #
Tee W 1 o geAn Tt gnfi?
(A) 15
\M
(C) 12
(D) 39w | ¥ TH ¥ M=
(E) 39t § & g T

141. FfeEH THEORE X+ xy TR &
\/4A) xX+y
B) x+xy

(€C) y+yx
(D) 39y | ¥ TH ¥ M
(E) 39 § & 1g T
EINREREINE]

AB+ AB'+ A’'C+ AC

Fferm Awaa _ w fsl 7@ R
(A) A
8 B
€ C
(D) 39w | ¥ TH ¥ M
(E) S | 9 i3 T

A TRIRE A+ BC __ % TR
2l

142.

143.

(A) (A’+B)(A’+C)

(B) (A+B)(A’+C)
NC AA+ B)(A+C)

(D) 39y H ¥ TH ¥ M

(E) 394 & & rg 7
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144. The Boolean expression x+ xy 148. Simplified Boolean function of

will be equal to Boolean function
NU%d F=A'C+AB+AB'C+BC
(B) y
(€ x+y is
(D) More than one of the above \lﬁe)/F =C+A’B

(E) None of the above (B) F=AB+B'C

145. The Boolean expression x(x+y) (C) F=BC+A’'B
is equal to
‘\LM/X (D) More than one of the above
B) y (E) None of the above
(€) xy
(D) More than one of the above 149. Which of the following logic

(E) None of the above gates is called universal gate?

(A) AND
146. If x is a Boolean variable, then
(((x1)7)")" will be (B) OR
(A) x’ (C) /NAND
( X
o (D) More than one of the above
(C) x+x’
(D) More than one of the above (E) None of the above

(E) None of the above
150. The minimum number of NAND

147. In two-valued Boolean algebra, gates required to implement
the maximum number of Boolean function f = xy+ xy’ is
Boolean functions for two
variables will be (A) 3
(A) 8 \@4
B) 12

(C) 6

QY16

(D) More than one of the above (D) More than one of the above

(E) None of the above (E) None of the above
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144, FfFE THEUTH x + xy % ST g 148. FfcF %aH (Boolean function)

M F=AC+AB+AB'C+BC

B) y
Q) x+y %1 CARd Gt HRH 8
(D) I & ¥ TF § e \@/F:C+A'B
(E) 3w # & g e (B) F=A'B+B'C
145. e THEURE x(x + y) TR & (C) F=BC+A'B
\(ﬁ/x (D) 3w § ¥ uF @ s
(C) xy
(D) 3w # & TF § Ak 149. fimifea # ¥ F-m avE
(E) www & & #S T T e FeaTrdl 87
A) AND
146. FT x JfePH AT 7, @ (((x)’))’ A
il (B) OR
(A) x’ (@f NAND
N (D) v & & w & it
C) x+x’
(E) 3w § | wrg A2

(D) 39w | ¥ TH ¥ M=

E o ¥ g Tl
®) :ﬂéﬁ 150. W’—l BRE  f=xy+xy HB

it w % AU o e

147. < AF I FferE s § 2 Sfwed

R NAND fe et
(Boolean function) &I T gt a) 3
(A) 8
( 4
o 1 N4
C) 6
S 16
(D) 3w & ¥ w @ eafeek (D) 3Ww H ¥ wh o Atk
(E) 3w & & 15 T (E) 393 & & g T
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3. weft g H 3k GHE T
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10.

11.

12.
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